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1. Introduction

In RAN4#38 meeting in Denver, static Monte-Carlo simulation methodology is proposed for co-existence study in the SI phase in order to speed the LTE work in RAN4. In the subsequent conference call held in 3th April, initial simulation method for Downlink was agreed. 

In this contribution, we give some considerations on TDD system co-existence simulation based on the output from simulation conference call. 
2. Simulation Methods Description
Generally speaking, the simulation methodology agreed during the conference call is equally applicable for LTE systems. Here we just list two issues that are different from FDD system. For other issues not listed here please refer to the description included in RAN4 system scenario TR. 
-Scenario

Considering coexistence study for EUTRA TDD, the following scenario should be considered first,

1.6MHz LTE<->UTRA TDD 1.6MHz 

10MHz LTE<->10MHz LTE
- RB size

Considering 90% frequency efficiency, it is propose that 360kHz RB size be used for 1.6MHz LTE system and 375kHz RB size be used for 10MHz LTE system. Totally 4 RB’s for 1.6MHz bandwidth and 12 RB’s for 10MHz bandwidth.
- SINR to Tput mapping 
Same method can be used for TDD system, but some link-level simulation need to be performed based on TDD system paramer defined in [3].
3. Outline of the simulation loop
The following is an outline of the simulation loop for LTE system in DL.

1. Drop UEs into scenario
Randomly select a cell, drop a UE randomly throughout the system area. 
2. Calculate the pathloss (including slow fading and the gain of transmitter and receiver) to all cells for this UE.

No fast fading considered in this simulation


No correlation of slow fading considered between two UEs.
3. Attach this UE to one cell based on the strongest C of the received pilot,
For each UE, calculate received power C = cell pilot power * pathloss
4．Make sure K UEs/cell

If there is no RB available for a new UE, the UE fails to attach to the cell, return to step1 and re-drop the same UE.


If there are some free RBs for a new UE, UE will select one and finish the attaching process. 

Return to step1 and Continue to drop another UE until there are K UEs attached to each cell.
5. Power Control（PC）


There is no PC in DL.

6. Calculation the actual CIR(DL) of each RB.CIR(DL)=C(DL)/I(DL).


C(DL)=the power of RB * pathloss of UE to the attached cell


I(DL) will be the sum of following:


The Noise of mobile receiver,

No interference from intra-cell because of the perfect orthogonally of RBs.


The interference from the same RB of other cell in the same LTE system.

The interference from aggressor system (including ACIR of inter system)

7. Calculate the throughput for each UE.
Use CIR result to determine the MCS type .

Use the service specific actual CIR-to- Throughput mapping for the selected MCS to determine the actual throughput for the UE.

8. Calculate the total throughput of all snapshot for LTE system.

Loop 2 END.

Calculate the average throughput for LTE system in one cell and one snapshot.

Loop1 END.

Output the result curve. 
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